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Circle the better estimate.

	  	�distance between cities

      50 m          50 km

	  	�height of a parking meter

      1 m              1 km

	  	�width of a sidewalk

      2 cm           2  m

	  	�length of a river

      80 m          80 km

	  	�height of a telephone pole

      10 m          10 km

	  	�distance across a pond

      25 cm        25 m

	  	�length of a toy car

      20 m         20 cm

	  	�length of a jungle path

      4 km           4 cm

				    -able = able to be			   -ful = full of

Write the correct suffix that goes with the word in bold.

	1.	 How help  you were to wash the dishes!

	2.	 Mom’s new vase is break .

	3.	 Is the handwriting of the child read ?

	4.	 Our neighbor was hope  that he could keep his farm. 

	5.	 It is doubt  we will see a lion today.

	6.	Did you know monkeys are very train  animals?


